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AWGN	en	tiempo
discreto

w[n]
ruido	blanco
gaussiano

s[n] r[n]

Enviamos	una	secuencia	de	K	muestras	sk	y	a	la	salida	obtenemos	un
conjunto	de	K	muestras	r[n]
r[n]	-	sk[n]	=	w[n]

Quiero	encontrar	la	secuencia	sk	enviada	que	maximice	la	probabilidad
de	haber	recibido	la	secuencia	r[n]	que	obtuve	a	la	salida	del	canal





y[n]	=	s[n]*hT[n]	+	w[n]

Vamos	a	asumir	que

y	que	w[n]	son	muestras	de	ruido	blanco	y	gaussiano.	Es	cierto?

A	la	salida	de	y[n]	queremos	construir	un	detector	que	nos	devuelva	la
secuencia	de	símbolos	que	más	probablemente	se	envió	dado	que	yo	obtuve
a		la	secuencia	y[n].
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Ejemplo



-K K+L-1

Ecualizador,	filtro
FIR

L-1

canal	con	L	taps

Criterio	minimizar	la	distorsión	de	pico:

u[n]

Q(z)

V[z]	=	H(z)Q(z)

convolución	de	ambos

-K K







Ejemplo: y	se	busca	un	ecualizador	con	3	taps





a[n]
Busco	los	coeficientes	q[n]	que	hagan	mínima	la
distancia	del	vector	a[n]	y	su	estimación.	
Por	lo	tanto	e[n]	debe	ser	ortogonal	al	espacio	de
los	vectores	x[n]

E(e[n]	x*[n-j])	=	0	para	todoj

Principio	de	ortogonalidad.

El	valor	esperado	E(u[n],v*[n])	es	un
producto	interno.

e[n]
















